_D_@)%@@i quattro decimali, ordine delle operazioni

hoh * % %

Nome: Data: Punteggio: __
2,7-4,7x6-5,5= 20x6,6+4—-2=

4,5+8%x2,9+4 = 6,4+ 12x2,8+6=

6x5,8+3+3,7= 2,1+16x5,8+4 =

52— 12x4,4+-2 = 3-6,1-3,5%x6,2=
4,2+5,5%x5,4-6,4= 3,1-24x3,2+6=
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_D_QM%@@ quattro decimali, ordine delle operazioni

hoh * % %

Nome: Data: Punteggio: __
2,7-4,7x6—-5,5=-31 20x 6,6 +4—2=31
4,5+8x%x2,9+4=103 6,4+ 12x2,8+6=12
6x5,8+3+3,7=153 2,1+16%x5,8+4=253
52— 12x4,4+2=-212 3-6,1-3,5%6,2=-248
4,2+5,5%x5,4-6,4=275 3,1-24x3,2+-6=-9.7
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